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o AU HY YSHUNTIYY/LVHT)
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= o MuE o
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
O1.32R3LHAI 38, 100
-HE 25021 +5,00021 * 128 15,000
> 1,75021%1, 10021 ¥ 122 23,100
O3. Al ZHIR K| 27,983
MR ALY SRR 24,983
PIEEETIPT 104,986, 0002 8% 8,399
oIy Y A 24,471, 00021 +8% 1,958
“EMCAE2IX 111,263,002 8% 8,902
o= S/ 32,236, 0002 *10% 3,224
Sl E=EEY 25,000, 00024 * 10% 2,500
Dl € L BN AWU RARL
1,000,0002 33| 3,000
202 O4Hl 17,262 17,370 A 108
01 2Uioibl 17,262 17,370 A108
OJIZBAAEY 29 U J|=ZSVALR A0
bl 60, 00021 ¥32 x4 x53] 3,600
OSMHEH 2e0U(SH)
54,0002 +12§ x25321 13,662
301 LB A 3,214 3,722 A508
09 Bol2RLABAS 3,214 3,722 A508
OzozRad 3,214
123 83,0002 1122 1,056
-S| 5,00021 %12 x222 #1224 1,320
~DE| 2,00021#1% %222 « 122 528
-l =l 140,0009! %124 %23 280
-~ BEEY 15,0002 1% %22l 30
405 THAHE S 200 4,700 A4,500
01 RMUSEHSH| 200 4,700 A4,500
OBRBNER B4 2072
200,0002 * 14 200
OIS LTG0l (BBEMN L /T - 8 193,540 177,800 15,740
29|)
= 36,000
Al 157,540
SHY? U HUIZSLN L 193,540 177,800 15,740
= 36,000
Al 157,540
SN E 13,540 12,530 1,010
201 LByl 8,700 7,640 1,060
01 At 7,200 6,200 1,000
O1. 2848 4,400
—SEYIMEA AT NN
100,000 %1074 1,000
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SIHEH NS SEH , HHZAY LEt=E
gl 1,000,000& 1,000
-HH 22829 Let=3Hl 200,000&~12& 2,400
O5.=2Hl 2,800
—gANARR 22N SA 2,800
ANagseEd 7,000 *40F +5 1,400
st Ed 7,000& «40H «5 1,400
03 A2 ZHI 1,500 1,440 60
OsSggNga o Nydgs=d o=, 0
HiZel & dA2EHI 1,500,000& 1,500
301 et ag 1,890 2,940 A 1,050
10 HAAHIZ &3 1,890 2,940 A 1,080
O =5 WA 24 7,000&+30F +32] 630
OAZEY 4B 22X 24
7,000 +30H »2 «33] 1,260
405 AHeHESHI 2,950 1,950 1,000
01 T =S FH SHI 2,950 1,950 1,000
OXE gl g=8H F 65,0003 304 1,950
Osggeiaea TV 2 1,000,000& 1,000
HolZSHXA(EX) 180,000 165,270 14,730
= 36,000
Al 144,000
308 NXIHHSOIH 31,200 25,250 5,950
= 6,240
Al 24,960
07 GiBIZ2SEXNEZLEL 31,200 25,250 5,950
OulblI=2=t AARE3Hl X&
800,000& *34 0 = CH 27,200
= 5,440
Al 21,760
OA oI &b8l=Xld| 4,000
- = ¢ 3,000,000& 3,000
& 600
Al 2,400
—Z AHCH CH 1,000,000& 1,000
= 200
Al 800
403 XXM SA=201H 148,800 140,020 8,780
= 29,760
Al 119,040
03 GibIZsS4XEN=EX 148,800 140,020 8,780
OPC/ZElHI 2 1,500,000& 54 = TH 7,500
= 1,500
Al 6,000
og=g 2 90,0003 *7 12904 = CH 18,270
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SN RHEIEE D
D2 UZSALHAHH OIS (BSEMLOE /T - 212
o9l SEYT ¥ HHZSSX (e @el)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OMFEIIEX 72 300,0002*1)H+297H = 0 8,700
= 1,740
Al 6,960
OBZYA 7 500,000 14 *297H = O 14,500
= 2,900
Al 1,600
OO0t 22l & SAH| 800
-DEg 500, 00024 *1H CH CH 500
= 100
Al 400
B ACHCH 60,0002 *5H 2 O 300
= 60
Al 240
oS 0bIZ 2SHl 1,000, 000! 1H CH CH 1,000
= 200
Al 800
ONBIOIZEZHIME 7 7,500
-n=e 500, 0002 * 10CH 5,000
= 1,000
Al 4,000
~ZEARCHCH 500, 0002 5Lk 2,500
= 500
Al 2,000
NSZLRR S (LBTTUT /L) 925, 116 831,098 44,018
T2 57 Ky 925,116 831,098 44,018
T2 sAPY 14,940 27,322 £12,382
201 Yer2 Y| 9,000 13,760 A4,760
01 AtR2elt| 9,000 13,760 A4,760
O1.2e+84H| 9,000
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~FoISEYgR DR K
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—TNQUE HEAMHIA 0I8E
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™) 60,0002 x33% %221 #13] 3,960
mEEL] 910, 176 853,776 56,400
201 LByl 419,176 392,276 26,900
01 At 22l 419,176 392,276 26,900
O1. 2848t 9,600
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SN
X XH .
S Tt

oLk

ro g2
JY 0x

H0 MO 0

=l
SZHI(XXIE ) (DIEHDIIE
HH| (XA )

SN -EHH . (B) - MPAY - BE2 0 Ak o4 B HRE2
Off &F OH
N2 (XX B D) (IIEH/IIEH) 21,464,203 20,936,133 528,070
ol (MXIHE D) 21,189,738 20,692,598 497,140
nFolAS A 6,038,863 6,326,462 287,599
101 @124t 878,039 935,014 156,975
01 B 600,000 0 600, 000
OHUE R4+g 60,000,0002 + 10 600,000
02 JIEtA 24 278,039 935,014 656,975
O+&#IE (92152I1F)
820, 1002+ 18+ 12 177,142
OzU224+Y 38,835
SN 2R4Y 50938 1825304l 2+ 122 38,835
OF A+ 34,734
-bEag 13,134
< Xt 40,0002 *18% 0. 78+ 122 6,740
" JIEHE 20,0002 18 *1.48+122 6,394
-S4geLy 21,600
YLy 30,0002 18 * 122 6,480
SPS 2249 70,0008 ~18Y 128 15,120
O+&8HA 42 DBy
250,711,0002%10.9% 27,328
303 =2 5,160,824 5,391,448 £230,624
02 &DHatoi2 5,160,824 5,391,448 £230,624
OSIANHZ 5, 160,824,0008! 5,160,824
2yl 2| 13,775,152 13,253,939 521,213
304 HIRLBS 13,512,055 12,993,287 518,768
01 fERya 11,219,315 10,640,003 579,312
o¢2Ryz ¥ 2HI
50,766, 124,002 *17.251% 8,757,665
OSIM4gRe3 50,766,124, 0008 <4.849% 2,461,650
02 2pIALREZ 2,292,740 2,353,284 160,544
ORQIAYLE S 86, 147,474,000 +2. 54% 2,188, 146
OFIIQYLE L2 2,188, 146,000 =4, 78% 104,504
307 ©I2r0l M 263,097 260,652 2,445
07 eiEN22 263,097 260,652 2,445
OMBHSASRESZ 50,766, 124,0008 0. 256% 129,962
OMat2aa 40,000,000 40,000
ONZZEAS(723158 JIZE) 1,862,7002 %50 93,135
N RET=] 1,375,723 1,112,197 263,526
101 QI 2A4H| 1,195,073 932,657 262,416
03 RINHA22XE 1,195,073 932,657 262,416
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SA: KX E
M HHESIAZHI (XX Z D) (JIEHDIEH
o QIHAH| (KX A D) (H:H2)
A BB O(B) - NEAY - BAS Of o S Hl R =2
Ol &
ORJIAHAE EHF 10,000, 000& *10Y¥ 100,000
OSIHAN R AVPE S
9,371,748,000& *2.54% 238,043
ORIIHR 2013 2e3
8,085,800, 000& 4. 5% 363,861
2IHLYEY NESH RH=
8,085,800,000& *1.3% 105,116
ORIAHLE MTHEH RE=
8,085,800, 0003 *2.44% 197,294
OLEIRLEE BE3
238,043,000 *4 . 78% 11,379
ORIIHLA OF=3l ZHl 30,0008 *170F *13] 5,100
ORIALE ZEEIXNTG fE2SE XX As
600, 000& x 12 7,200
OFEMEXZ(2UHAY) =& 129,946
== 29,010& »7H 313 63,561
-3 756,680 *7H *300% 15,891
-EE S| 756,680 *73 *120% 6,357
-~ Z A 80,0003 +x7E*12& 6,720
ST u ] 30,0003 +x7E+12& 2,520
=JtH 2 =] 50,0003 +x7H+12& 4,200
e P PN = 29,0103 x7H 1 » 10 *50% 1,016
s 60,0003 +x7H+12& 5,040
=5 29,0103 7 H 52 10,560
-A2te2fs¢ 5,440 x7G #22 A 2tx 128 10,054
-AXtE 29,0103 x7H »15¢ 3,047
s 1U(5H. =) 70,0003 x7H »23| 980
OF AR (R54) 37,134
-JleEg 29,0103 »2H »313 18, 161
-&0= 756,680& 2% *300% 4,541
-HEFOHYI 756,680& 2% x120% 1,817
-nsSE XA 30,000 x2F 12 720
-tE=Y 50,0003 x2H x12& 1,200
ERGPNESI=] 29,0103 x2H x17 987
=g 29,0103 x2H x52 3,018
A2t 2R 5,440 «2 B «22 Al 2tx 123 2,873
-H Mg AlY| 80,0003 x2H x12& 1,920
-2JtA 3 29,010 x2H 2 » 12& *50% 697
-JtHIE 2l 50,0003 x2Hx12& 1,200
203 HRF&Y| 180,650 179,540 1,110
01 J|22IHRF=&HI 138,600 138,600 0
OAlIE 79,200,000& 79,200
ORAMNE 56,100,000& 56,100
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el oA A (XX A D)
SN EY O (BH) - MRAY - BLS Aol Bl
Gil &t 0
OXXHEFE 3,300,000& 3,300
02 HANMMPRFEHI 37,190
OF ML RFAY| (28 :723Y) 37,190
-1~10028 80,000& *100 8,000
-101~300H 60,0003 200 12,000
-301~600 45,000& *300H 13,500
-600~723H 30,000& 123 3,690
04 EA2IZRFEHI 4,860
ORMSILRENLI (& 419Y) 4,860
= 350,000 «12& 4,200
-Z 1 5,000& 118 ~12& 660
|2l (X XEE ) 274,465
N2 166,225
201 LBt H| 166,225
01 AFR 22| 152,305
O1. g Et==ZH| 18,230
-2FN2Y dite+2H 5,780,000& 5,780
-“EA2E dUARE 7,650,000& 7,650
—HEAMPE UBt+T 400,000& +12& 4,800
08.29=4¢ 124,850
-2 X 50,0002 x6H 112 33,600
-=7 50,0003 5% 365 91,250
O5.= &l 9,225
-2EA2Y =Etl 9,225,000& 9,225
02 22234l 13,920
O1.3323ZAA 13,920
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-22 FUHE MEZ 200,000 x5CH x 12 12,000
HE=A0HI 108,240
202 O4H| 108,240
01 ZLHoiHI 108,240
OFQIRFANH 20,0003 *41Bx11L+12& 108,240
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